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Introduction to the S.A.T.

B
SUBSTITUTION PROBLEMS C)
£+ e acea of A AEC s 30,

+hen 'L (Bc)(5) =30, That

(b & mokes @ =12. IFf BC=1a,
Substitute The answevs for +hen De=B.
s ?ee which one gwes you Use +he Pythagorean Theorem.
an m+€5e~r%\rx: 15 Solve For AT
((é)) ; SR AR s B Ae? = 57+8*
3x+2()=17 = Vs A = 89 = (Be) = V&

@YY zx+ae)=17 x= Bl

@ 5 ax +2A5)=17 X= 73
€)6 2x+2(6)=17 X = 5/3 FUNCTION PROBLEMS

® B |

@ C (3x O4)= 3(Bx)+ 2(H) —7 Axt8
Quadvant T C+,+) t/4+ =ﬂ] (Ax+8) O ax = 3(Gx +8) +2(2x)
Quadvant IL (=,+) 41 = - 27x + 2t R |
Quad ant I (=) A1 = 1] 31 x +24
Quadvant B (=) ¥/H 2= ® A

| | # 3 Y

D e

@ Zjam\j are SOPP}eMe,WTv\fﬂ S e
QV'\SIE-S- QX-BX‘L!‘j +3y +ax —3y

241y =180 7 y=@O [x -4y
% and Y ave supplementary '
X+y =180 — * =120




CIRCLE PROBLEMS

@D B

The Cender of the ovcle (S

ot (0,0). By Checking inter-

Cepts, you can determme
et =5

C=2Ty = C=2m(s)= 0T

D

c=21mr > i C=6m for one
civele, thevefore !

6= any —2 v=3

IF the vodivs 5 3, +he
acea of one Avde s
TV — TE* — 9T

T the vadius (s 3 a sde
of +he square n the mddle
IS ©. The area of +he Square
Is bx b = 26.

The shaded region & :

(sq. avea) — (circle aven)
36 = am

@ B

READING PROBLEMS
The tuyn (Shawn below) Is 75°
o
246 =171 =75
AT 2 degrees
per Second ¢
\-3 15+ 3=
15°
= |

Subshivte for a and b. Pick
random wo hjples of 3 Hrom
+he Set. (This problem
combines careful reading and
Sobstution ) .

Exomple: a=3, b=06

@) ab = (3)(6) =18

®) a+b = )+ (6) =9

@) a-b = (3)-(6)="3

®) -a-b = ~(3)-(6)=-9

E) b = 3/ =[] (hot in the set)

Re crefvl: IF you had
chosen fo substijute a=9
b=3 —> all B answexs woulc)

be in the set.

Shovld Hais hapeen, choose
o difFerent par of wteger
mulHples of 3,

(©)



QUANTITATIVE PROBLEMS

o B
Since 77> 1 N cannat be ) of
>) or O (undd:;ned)
Substrtote a few values .
O<LNL|
N= '

&Y<
@ D

Try valves for X and 4.

Remember fo include O
and negative valuves, X>Y

N= 4
Sl

N =y
GE)4 ]

X= *+Y X~
:5:\ 3 > |
X=3 X+Y X =Y
Y=-3 O < &
x=42 XtY e
4 =0 4 = 4

T+ cannst be determined

AVERAGING

M Sum: WOx~-b
Dwiude ¢ loxz_bz @

@) Sum: 120+3b+a
Divide. ‘p;o;t;’éiq - ju{a+b+_:sl

@ Som: ~Hx Haxy +Hy
Divide | ~HxHaxy +HY
l—‘.

[Fx+3x9 +9

@Sum: o4+ Hb + 8

‘vide : Ha +Hb+E
il —-—4—“‘—=

(TR —)
oL TRUR) | (NaTeine suy
THE TRUTH

=

=

—|

@ow*g.Sum colax I =13
new Suom ! o x)2 =120
miss{ng pom bers i 132120 = |2
ovg: 12+ 2 = [€]

@ Svm: | x a4 = 24
ax 30 = 60

Hx 32 = 2%
2 x3% = 76

q +eams 285 books
28

-——E = |22 books per

4 +eanm

@)




(7) B tests

92 % avexrnae
Sum heeded : 5 x 92 =HE0
after H tests: 366

lost test @ H60 - 366= 94%

lat 'I'r"P . 4o mikas: 2 hys.

: )
ZYd'h'-?P' QOWHQS_,SVN‘S'

Rourd trip _ Total Disth,

avernge  — Totg| Time
180 miles =
5 hours ad s
st e |20 mnles_: L e
30 meh '

Rourd rip e = 240 miles
Qrernge - "~ % hrs

Hox =240

¥ =6 hrs,
+oted hme.

6 hes.(total) = Y hes, (st Hrip)=
vetuen trp (2 hrs.)

Return ., 120 miles _

6o mph

e T 2 hes.

. TAKE AT FROM Me,
YOUNG FELLA...

OLD AGe IS NO
FOR SieSio6 1

@ ek drips A %35 =70
2 x40 = g0
2% B0 = {50
Thys, 20 miles
Round tTip 4= 00 miles
ANELAgE X hrg
HO% = 600
X =I5 hrs.
fotal

15 hes (fotal) = 7 hes (Istrip)
retven frip (8 hrs.)

Retfuvn 200 miles
top ' 8 hrg
L%'?,S meh

(®)




S.A.T. Multiple Choice

Demonstration Problems

O E

Ase CYoSS muli-fph&a‘l‘rbﬂ‘b
solve Yhe equahon:

B |

x-l 5

&) = =-DG)
5 = el
e = X

@) E
Tf John was 25 mnutes
late, the boys were
Su‘oﬂoosecl +o meet at:

240 —a5 = 315 PM

il was B0 mmuies Jate:

2515 + : 50 = 4705 PM

€Yo
Rest solve for x ¢
X=z2* — x=Y4
Then subshiute ! Xzs '-+D'-_ I

@ D
60 % (\10)=6 => bo-b=54
54 % (L 10) 2 5.4 =2 54+5.4 =54

® D
SubsHtute and evalvate :
20b _ 2(2)(7_) 8 _
a%=b @) 2
© E

TP 4he marks are an equal
dstance aparT, each mack 1S
W37 w13 6 marks:ex3=18

Q)=

Be pahent, Add. T+5 o
com plex Frackion,

nmeretor 122 — Y
denommator P —> 32

@D




@ D

ABBC s |sosceles (A5 =gD).

That mokes £ADB = 65°
X 15 suvpplementary to 65
x= N5

%5 BV

@E

Pick a Simgele example 4o
vy m=3, n=4
Given +his example, none

of the First ouc choices
are chvisible by 7.

WeLL FRieND...

WHAT'S iT GONNA
BeToDay..?

.ARE. YOU WiITH Me 2
OR AGAINST Me 72

|

Sum needed 1 & (xH) = bx+b
sum of Fivst 5 games ¢ 5X-3
Score needed ¢
(bx+6)—(Bx-3) = x+9

acC

use dgour magnation ancl
Your abi ity fo “picture”
+hs pmblem ,;,) Ejour‘ n“}fncl.
& plocks stacked m R
rows of 4 will have a
Common vertex,

@ B

Drow and label 2N . Al
sides M7 (smallest posrhve
Integec).

Draw v heght and (abel.

\ T 1 o 30-60-G0 A
The height s the
Y. long leg. b= alz

Va3
Ae sure jo .
r‘ecognfzta special tranges,

G A

Plug m some valves that
Fit easily ¢ K=5,T=30

Wsing these valves, i+
will take 2 hovss to
wolK 20 Km.

check to see which ans.
equols & howres *

@)5K 3(58) IS =

(10)




@ D
X+Y must =14 Since both
are single digit integers:
Tl G R 5 A pesd=
ibilitres. 5 s the smallest
possible integer

® B

Solve the @quation Tor
VYogs M K was a
Coe FFiclent ¢

lb) E

X G&Hdﬂ are alternate
interior Gngles, That
means X=v. T x+4y=10,
both % and Y must bR
equal to 55

Z 15 Supp lementay 1o X ¢
Z+55 =180 — B=1B

@)
T3 hove an avea of locn?
+he sguare must be Hem by

Hem. Tha‘l“ means the heaél/l‘f'
of +he triangle must be gem

avea ot ol 4
< (D)= 10

E
To get The shaded area :
Ta ke the area oF +he
Square and subtct +he
4 sectors, The H Sectos
make one Complete

cwele with radius W

area mc___ﬂ_r:.

Crtle
Equare) — Ccrvele)
@r)* - Cme®
Hy-=TTr?
A

Simee +he fonge.ﬂ‘ side of
a et ‘]"\'\'onng\e 5 the
hgpo"renuse) the ‘h‘l'amgle

looks like This

avea of A X Zz

% Chase) Cht) Y
4 %y

Q»



@ ¢

Pick. simple valves do svb-

- Shhute ; .
<ac<h ®o*=2*=4

1<2<3 (B Vo=

az2,b=3 ©) b* =[]
® ‘fa>= V4
&) ab = b

@ »

Add all 9 angles together
and you get 4 3 (80)= 5+0°
The three unmarked angles
v the Center = (80°
becavse they represent 7z
of 3e0° when you Consider

verhical a ngles.

/ ! BL0°-|80 =360
0 C marked  unmarked
Ch\™ Lis T Lls

a+b¥C = atbic

@ ¢
According +o deFnihon, chase
+he integer equal Ho o¥ jusT
greater than +he boxed

values
+ [ 12

D) + () =10

—205

@ E
B st you might Haink $he
answer s A 4 £ B, be
carefvl, Tf you daw a dagram,
+he Pﬂ thagovean Theovem will

help You .
x: 15 | 25
| 20 E
i Y
Txe 15" 20"+ “f' =25"
)(2':576 32-:2'15
¥ = a4 52 IS
S glide down +6+
4o 20

Simce +he ladder 1§ newd
5 . Fom +Hhe bui\d;'nj)
W shdes & 15-7 = &

(2




PART lI

® D

Plug 12 1nto the equation for X
and solve for Y.

" .
Then Py wn X=12 avd 3=l-|=
X-Y = |a-4 = 8

A |
TF you multiply a whole
numbey by an even npuwber,
He result i even., Since
La” 15 Mmoltiplied by the
lavge quantity £ g
even), the product (s even,

A

The square’s acea ts half
+he avea of +he +riangle.
The Squaye is & by ‘.

P

=

Svece 2 18 the larﬂe,s‘t') % and
Y must be less than 50049 -
Foyr 1500 to be +he answev,

al\l Theee wouvld have fo
Equal D500 g

C
Contmued i nexdt colomn

I\{Tﬂ*bmrdﬁ l:ﬂ

=28
Berive ar 4 12 48 :
A
Turn fowad 8 9y i
Arnave o A Fab -
Tum foward D 3. N - n=8
Acvive or & 7 1>

LIS LIFE REALLY
JUSTAGAME %...

~Nes,BUT THERE (9
SOMeE ASSeMBIY REQUIRED!

Experiment with the answers
Only (&) and () som to 12.
Only (8) meets +he other fwo
Condifion s,

D

syce AC 15 a side of both
triangles, 1+ can be (gnored.
Look at the other fwo sides,

The loavge A has sides of
22, the swall & has sides

ot 15,
=5 =7

(12)




@

&

6.

Sum of 1 ¢ H x50 = 200 kg
Sum oF 2 ¢ 3XM5 =2 1235 Koy

Missyng ohject ¢ 200135 = 65 Ky

5]

T, is false Ad+cd #AD

a, s trve '

. is folse Ac-Ar= gL
AD-CD= AC

D

Start bﬂ SUbs-HTuhh_q R=20,
h=856 4§

_ xtwh “CXFS)‘S
K= =5 0= 5
X+y) =%

TH (x+9) =%, Yo 9ot thew
average. , add +Hhem ‘ibgej—_her
C\Y\d divide biﬂ 28

(x+v)_ B

—= = 3z="

=

The fowr marked angles add
o 180° but no other [vfov -
Maflon Cawn be determined
to solve for .

B e

Work backuards @ AP 20 win
Cl left in ‘(DDM)) afrec 15 min (=
left) ,after 10 min (4 left),
after 5 min (8 lefH), af O mn

(6 people)

@ A

Choose simple numbersto sub-
shtute Cavold SM7) ¢
Example s £=3 L=, w=5
Using these numbers, each
Squave meter has 3 clovers,
A 4 by 5 rectangle wil)
have 6O clovers (2 x20),

The only Solvtion = 6o s (A)
fRw= 345 =60

@D

The radius of the cele is
4+, The ovreumTerence of-+he
ovele 1 C=2Tr =81

(o

Aceordin 9 +o° G\G_.'Fl'n’\‘h‘on f.
=8 because '3 1s ()

_""“17 because —lg 15 &)

odd one
g+ (7)) =)




S.A.T. Quantitative

Demonstration Problems

@ A ® e
Htens in UE, 3 hundreds in 34¥ The numbers i guestion ave
17 and 7. Even if You connot
@ A determine +hose pumbers

C{Ul'c'ﬁ’jj) |8 1s oo lavge ¢

x2 Wil be positive even i
¥ +6 =24 —~ I1%~-6 =12

X IS nega"r\\/E- iz wall be
grea:kzwf‘ +hon O,
© A

) ¢ | &= (7-6-5)=12. 8-7-(6-5)=0

“4(2x-2) and a(4x-4) beth C
Rqual 8x-%, No matter @
what valve x hos, both
will be +he Sawme .

W= [ Shms W= l.'Jz-(.S'):BmB

D
@ 3 Uwnless all angles are 907 t+he
diogonals will not be egual .

s lﬂg +he P:j‘f‘hajoreaﬁ
Theovem i

G2+ 222100 R*+5%= 169 @ D
Nyp = lo hye = 13

Subshtute a covple of Fimes :

E xample |

X=l)3=1 X':Q.JS:)_
(zH* 3h3* (2 o
q <« 27 g1 = gl

Un Jess all valves creade the
Sawme. vesv l+} the r‘e[c‘d"l.'ongh,'p
Cﬁ\ﬂncﬂ‘ be de:,'ef‘l'ﬂl‘ﬂQd,

©C

Both ciccles have the Same vadius.
(15)




@ p

x must be O, but y covld be
positive o€ negative,

@ &
Solve BY X! ax+2 <|
2x < -]
se =i

@ C
(»{Sr'ng relaﬁc_mshfps’ [earned
when shudying pacullels and
+ransversals, X and Y can

be shown +o be Supelewentary.

Thus @ X = 180-Y.

® ¢

Ct-2)+(2:3) +  CHDRCI2) +

(4.3)+Cl- ) C3.2)+ (43D
24 = 24

5 &

(0 X)+(x-0)+  (x.0)%(0-0)+

Go+ry)  (Yo+ ey
O £ Xy

XY \s fjreadfr be cause x

and 5 oxe both pos‘l-l-\'ve

(® D

For +he equaton fo be trve,
%4+ must =0. 2ot x could

be +b and Y covld be b or
i covld be +he veverse,
Therefore : x-Y could be
posihve or nega.‘r‘l've.

@I
Subshtuie any volue for x
and both columns will b
equal, Example ; X =2,

% =%
Bxx Ax+1 =7
\m

® D

Subshiuting a posi‘}*\'ve

value 51‘#@5'.
A B | 3 ol
e HR=34%

Su\os*i'\'uﬁhg a V)eﬁod—\'ve
volue 53ves:

(lo)



@ D

X coold be H2 or &H. The
FIvst 1s less, but +he
second (s equed.

& A

T+ is not necessavy o
determine +he exact valwe.

Both columns start with
+he same valve (lo©)and
A subtracts a smaller

amounT (26) +han B(3°),

+AND NOW FOR THE FARM REPORT
a000 A MOO-MOO HERE, A MOO-MOO
THERE, HERE A MOQ THERE A MOO,
EVERYWHERE A MOOMOO..,

@) ¢

Column A Go- 320 =1%00
Colomin & % |00

@ B
Colomn A ¢ Synce y=2x,
2X-y = O
Column @& : Must be positive
even if x and Y are both &),

@)c

Vecrheal angles bexng equal
both chords il be e ot! 195
Centml angles of The Same
Measure . That makes Hhe
chovds equal.,

@ D> -
Tt aor b s neﬁcrh've)
Column A will be negative
and Column & will be
posihve, T a and b are
poth pesihive, ab=a?

@A

|
Column A = e
2

é‘
2
I
Colomn B¢ 2-1 = 3

@ A
Even Fhough x \s negatve,
%> Is positive, Since x*+|
< greater Than x5 colown
A > Clumn B,

@) D

substute,
Examples?
2(100) 7 3 (4)
2 (6) < 3 Q10)




@9 B

TF x and ﬂ ave POSH‘I'VQ
and less Fhan 10, The max—
imum value of x-vy 15

9-1=8

@) C
~ Angle relationships wsing
parallels and a Fransversal
show 6. Gnd b o be

Svpelementary Therefove ¢
a=180-b

) A
Solve Jhe _quation :
2y~ =13 = %=|0

Sobshtote -
XX +T=27 X 2]

@D ¢
Column A 6 0.4 = §b4O
Column & 5640

@A
The gresctest distance from
one s\de of a V‘ean:mgle_ +o
he othev s at Fhe diagonal -

PART Il

@)
The triangle at +he right
Shows Y=70. On the left,
iF4=70 and 2 745 x
must be less +han 65,

@#»

Column At 32 =34
Column &: 28 2= 2/3

@D

Example: 225 le5 |&aF
.
5 [B]
Example : 2=-2, |e-2 | A2
e -2

@ g

Simce X 30, more than 60%
of the arde 15 Shaded .

Therefdve |
: "{'\j % < H0% and Y < |0

(2




® B
The Som must be H8. Since
x>0, y<0 o keep +he
Sum at H48.

@ D
hand kK are completely in-
Ob ndent st each sthev.
Er"“her‘ could be lavger Fhan
+he other.

Gy

do% ot 10=9

@ A
AC &8 200 because C marks
+e middle of AE which is
100, RBRD s 198,

@ &
The +hree angles add ve o
40° because. the tweo hhes
are pecpendicular (L), X
and 70 -X add ve To —70°

That leaves 20° 'Br&

The Rrst half fakes 2 houws
and Hhe second hal+ 1Yz,

1o+ 4 'h = Yo
HO kKph is The average

A% ot 100=9

@D
Roth coordinates will be
negah've, but either coud be
lavger +han +he other.,

\ SUPPoSe TWO ReALLY 0
CAN LiVe AS CHeAPLY
AS ONQ LA ]

A5 LONG ASONE
DOSSNT@ATf| |

When a number ends 1 7

Clike 721, 7 will have o
Ny the umiks digit when
msed fo every pesitive
power, wWhen a number ends
m "t Wil have o R~
mnainder of """ when

divided by 0.

(19)




SAT. (A

O B
Solve for X ¢ bx=ilx = x=2,
Therefore : ax—| = 2(2)-1= 3,

@ 6
ITF Y% ofR a number 5 3 ,+he
nomber is 24. Y2 of 24

s .

@ E
Subtract 5.50 for the
et Y5 mile. Divide
+he. vemaining $2.00 by
4,10 Jo get 0.
20 x B2 4 miles. Then
odd +he Frst Vs =45,

@ D
The top angle of +he
+riang\le s 20° (ver+ical
arngles ). That leaves
2% = 6o —> X =80.

® ¢
Cakulate: (5+3)-(G+3)
Z. 48 L. 7.7
& 1. %373 X7y

@E

L{Jri‘%e do‘wn the relationshipas
M equation form. often,
z)ou will see Some‘f‘hl'()g 2
15 clops = | +if
10 dops = | decadop —> mu'T, by <
60 dops = b decadops
O dOFS = 4 Hfs

D E

This Is & reading problem, €
eotient and go slowly. Cheek
each possible veluR of K 1o
see f itis In the set:

27 2l.g 22_

ﬂ:l ﬂ:'L - not 19
A7 g1~ 3
+he set

(20



® A ® e
Becauvse verheal angles are Tn the center of the figure,
equal, +he cenhal angle. there is a quadni lateral

+hat cuis arc STQ (s 207 (where the Hwo rectangles

= ‘. overlap). Al quadn laterals
= I equad to 5 Nave 260° Nohce: The
, | Mmarked angles are supple-
@ mentary fo the A angles
e of +he quad i lateral.
Subshtute the possible Therefoce ! The marked
answers , Notice * avngles must alse fotal 360°

@) x3= ) > 43= (2’ e

6H = 64 SR et ;,Ogdi"l‘sbr’)_’_r
Cposs]blc—: Solution Y 1o
&' ’ " And o reason 1t nir'gl’rf not
Pick +he smallest possible wo k..
valves for b (&-1) and example ? (A) x40 wil) not-
check + b+ =77 work [£ Y s [ess than X
@ C 6—2.2;?3): :IDT (negathve)
This ﬁéure s clrawn o _
scale. “ou Can quickly only soluhion (E) produces
coont 14 squares. Be o positive underall Ov-
CumSTunces,

careful © Synce a square
s defined as x (ot X, ®c

do not choose 14 x*
Since X 1s straght, Lx and
@ E Ly form a linear paiv,

g ounces of soda, Subtmact Since x+4 =180 , 1€ % =4
G ounces, A ouUNCeS are +hey both wmust =90°

lef+ 1 +he bottle. 8

ounces ave GmP‘i‘j out of D
0. capacity. ¥ = 80°/o wse any pumber fo ree —

€3))




reSent the number of
Mmarbles both have vow.
Example : John 10,
gill 10. Before The gifh
Tohn had 16, @il had 4
lo—i =12,

@ A

For a frachon to be >1,
+he numevator must be
larger than The denom=—
inator, Therefore t v>97p.
Plog In values and Fry
them: r=4 g=2, P=],.

AL =4 ot an inteps)

® D

Take each condihon one
ot a Hime and plug 1M
nvmbers -#ng To Show

i+ to be \Se «
= :;_:'% P 24) 3
=2 "r';']:‘_'}_—_):i:—.
=] >
m # 200'
A

Plug in a valve for .
Example : a=2

AL T
The rec)procal of H i3, Py
a=2 nte each Selohon

unH You get a vedlve

equad to Wy
a-l  2-|
(") — = iy= 'L‘F

@9 A

Dont be atraid of
Complex Focthons : _

T = =
379

Divide both sides by

Y and by

7
7/3

9
o

—x 3 7
77'3

—
———

X

Y
by
3

@) B

Make a Alagram of the
rectangle (b by V32 ).
5 triavgles can be wvade .

xxxxx\rg

@ D

If +he avernge C)'F_\/_ and

W Is P, you Can replack

TR the average of X, 4,
and Z 15 g, Yov can
replace %, ¢, and & with q.

Q)




The average of V)W, Y, B

VHWXHYEE by paq ety
| 5 - - B
2p+39

5

@) C
Ths 5 a difFeot blem.
The perpenc:\\'cular f)neii@hi'
s +he hne seament +hat
leoks like a ol jn the
Center.

Frst, ook at the syuare base
and deferwine +he length
of a diagonal usimg the

Py Hnaorea,n Theovem ;
6246 = x* ,
x* =72 ol o

X = \l’I)_ 5 ’

Xz @2 =

Now, picture. a friargle with
legs and hypotenuse below ¢

0% diagnal (above)
b=7 h¥, we Sole fov

Q_; a)_ +__b7.= C).
G12)*+ br= 6*

\\b” l:S '{‘hQ -
perpevdivlar fzf‘?—g 36
height =
b = 3{a

@B

Using +he clistances dicotec]

below +he line, you can
label +he pomts -

o 77 13 150 255
| i } l -
P Q R S T
Using these points, calcvlate
+he mdpomnis !

m‘\d_po;nf Qs midpoint PT
Igo-77 =103 0t 255

04 _ 5 } 2 2—1

T -2z

77 +5k =P8 nRsi-p7i=|

@9A

Try to dispeave +he Ccondhons,

Condifion L
z This example
e ¥/ shous AeCD
Y doés not have
X
ov vrectangle
Cond iton 11 ¢

-In Yhe d{agmm Q\Dove
y# 2.

Conditon IT ¢

pt+qgq must =180 becavse
a quad e lateradl has  360°

(22)




@ E

Subsiiute X342 = @Y+ =12
@ C

Ex periment a litHe, Pick

huwbers +hat 3 divides jnto
Lvenly Check Gny remamders

when divldfn_al by €.

® E

Plug in an even inteser Tor

x and check all of The

answers.
& | LoVe GARDEN
L FRESH VOGETABLES
- BUT TH{S BUSINESS
-~ OF PLANTING Seeps
& iS FORTHE BIRDS 1}

@ D

Notice oy Cross vaduavig
Makes Fhe problem easy
1o Solve ! 2=

2 y=
2P 3-1

O
Shrart wrth tjl-‘- 64 and keep
taking the sguare yoot of
both sdes ¢

Yy* =64
Bo= B
\]g:g(}-: = %

)

Using numbers oc letters +o
cesent colovs, A1l v
different colovs Sharting
with 3 v The wmiddle. Jou
will find /T possible to
keep Filling m +he 3 colors
without overlapping ﬂ%g\f::nS.

@B

2 squares on each sde + 4
more |for The Corners,

@ A

Do ndl" determine +he exact
valve, Colomn A adds a
middle 4erm that Column &
subiracts .

@c

Vertical angles are equal.

© 5

TF 3x= Ix=2 , TF '5-)3:6—?5:3,
@)




@ A @ A

The largest angle of an z will be a positive

right Hriangle %s e %"54. -\Qfac:hbn less than |.
@ D @D

'The sets of mtegers are T+ w=-l, Column A will

mdependent., Either could be less. T w=0, (olumn

be very) \arge or very gmall, A will be ﬁrEa-Fer.

@&

Both X and Vx will be
negcd-»i/e, Vi worll be closex
o 0 C@rc-u‘rer), Y wil] be
a negahve fraction.

@ C
Solve R xt 2 =+ > x=15.
IR
>3 5

& D

Since x (s lager &) Wil

be positive and @) negahve. Simce v could be posihve o
negative thevre 15 ho way

@ 8 ‘h)?ﬂ\\ which colomn will be

The serfes v lumn (A) 9
will total 3k, Even if @I%
Hat series Con fved (+ Yo

+%1& u.) 1+ wovld never -Co[um‘q A.; (00'94'7
’iT)‘f“a\ as h;ﬂh as \ Column&f(QOf 60 7

® B There 15 no need Jo multiply
Colomn Aia CD'Umn R+ 3 1+ ouT CO}UWJY] A )s 36’?&'}‘@(‘

@5)



& C @9D

Colomn A V=66:6=216 TF a= 10l ane b= 9a9
olomn 6: v =3-33 x8=2]6 ol , aaq
loa oo

@E’) TR 0= 199 and b = 20|
199 20l
Gjlumn A: 40 "[’O°/G C[/\am@ 200 202

Column B ¢ Hi-100 60 % chance

@)

@d A | |
Al coordinates on the line
Colomn A ¢ Use the %Hoag* will have x=y. W ithin
orean Theorem quadrant T all points
PHs>=c* C=|225 above the fl'ne will have

x<u and all ponts below
Colomn B2 LF rhe eE ot *}'hejlme will have x>y,

asauore & 34,4540 igefe s ach and dec
Since (lumn@) has +he

Jwo smaller VOL’UQ_S) (olomn

@cC @) s greater.
Assign numbers Jo +he
artgmal olmgmwx ; ﬁt;?;ﬁ%:?ﬁy
(| [

m 2 Mee BB

AT E B 8 Is ‘2 +he

Grovmfer-
Arc &D D ence of
Is Y4 oF ‘ a cele

e ciromference  With =l
oF o crcle with Jz‘(lTTXl)"

¥ =L l—l—
4 Gm(@) ={11 | D
lePF  Right
The Bets Ore quv\ ? ég;e;iveeidn@am' Blackz &lackl
* Totel 8 TotulH

(20)




DB

There. were 3 1aces, 9 points
were awarded |n cach race
(27 points M all). The
other 2 +eams totallecd lo,
27~ 16 =]l

@ C
| Since. Lincaln totelled 9

points | They could have
had &5 +3 +1 =9,

(DN

Setvp The followm -~
Por-h‘gns and fookof(?\' goem

Closely,

.E__.S_ EL_...[_Q Ththe 2nd

9”5 vy (3 proportion,
15 fwice

as large as i1+1is 1h The lst
propoytion.

P _® Double the Istone
4% o 1o makeg=lo-
P_6 Examine +he volves
r I3 of p and © n

these proporhions
when g s equal +o (O,

G2 E

Since A and b are even
and B=2A, here are +he
possibilities for AG: 24 H8.

TF 46 =24 + 24 +24=4€ and
That makes C=H and &= 1.
Synce Cand B must be

different digits, by AB=1&.

g +us =@o6

DiD iT€VeR OCCUR TO Yo, 2iGGY,
THAT THE NEIGHBORHOOD BULLY
MIGHT NOT WANT To MAK FRiENDS
WITHYoU s

& A

TF vpovu cobshture
dfFerent valves fov v,
k) aﬂd M l'
r=2,k=3, m=|
Re wvefv! to make T
Come out as an nteger
to keep +hings simple )
o =&
T= 2)(2)

(D+E)
Check all answevs :
@)m > (2)('):2,

KT (3)-02)

@




A quicker method Involves 216, each of the & faces

Factoring. This is an algebra musk Nave an area of 36,
Skill we will cover during That makes +he secnd
+he. second quarter st 7+h cobe ©XxbXx6.

-dee. Cobe )t V=23x3%3 227 cm
T = rk mu\t. by (M) Cobe.2 t Vzbybxb= 216 e

M+
Dooble (Lbe 2 & H32. (_m3

IMN+T =X subhracy T T+ takes |b of the Fiest
Im=rk-Jr fadorouvtther cobe. (lox27) Jo make

i 432 om?
Im=r(K-T) civide bﬂ (k-T)
Tm G E

K-J :
Pk any nomber,
EXQmp[Q ' 2

2+3+34+3 $3+23+3+34343 =30
% =2 Cavemge,)

2018 )0 Himes 3.

| x any number s 100% &F

the number. [0 x any number
s 00 % %10 = |1000%

@)D

To have a surface area of

- B4, each of +he b fuces
must have an area of Q.
That makes +he first cube
Zx23 %3

To hav@ a Surfuce area of
Q®




SAT. (B

D D
THP+y = x7+5) Ymust=5
@ 6
Y and 2y form a linear pair,
Y +,10= 18O = 3u= k0 7

=60, Sinee x and vy A
 Vertical angles, x =y

3 D
ubghitute valves ¢
X%y -i-'-?z — (—3)"(0) +§ =0

@ D
Theve € an 0dd number of
I's 1 1. 3 I's cannot dvide
wio 8 9's,

® A

Coont backunvds from 15
Fol on the calendar.

@ C

TF the overlap & 2m, The

sechon 1o the lef is 3 and

Fhe sechion to the right s |.

D ¢

Sum of tems . $11.45
P;vg: 45 +5 = $2-29

®@ A

Reduced by 0% , | saucey
i reduced from £190 fo $1.71.
Save Gt x 8 = $ 1.5

@ E

Tnoder: . 201,11, .102,. |0\,
. 100}

... | DONT THINK SHe
WANTS TO TALK ABOUT iT...




© B

The cwele can Fit into Hhe
gquare - but has an area
greater +Hhan half.

) E

Possibitihies: (5,&) (7,6) (7,8)

@ D

Try each condition with a
vaviety of even integers
trying o disprove them:

Conditon I D}.sfproven

@);)"—-—LL‘—): 3 (odd) (3)?_“'—(6): 1 (even)

Condition I ¢ Always wocks

(6)-(z)=H (even) (9-(D=6 (even)

Condition I ¢ Always works
(Y HR) =K (yes) (123+00)=22 ()

L 1}514[5 problem Con be done
quickly once You stucly
facdtonng (n 1th grade :

x ~y*= (et (x-y)
BC)H-:j)(X—tj) = 3(2_7):&]
TF Jo not understand how to

Factor, You an xpenment
4o Lvd valves Tor xandy:

)(-"“-vz = 17
Therefxe 3(x+y) (x=9):
2( b+2)(-3) =8|

@ e
Look for Poss;b'\h"ﬁes Fhed
£it+ the condihions, Since

move +han one pessibility
exis¥s, You must choose =),

x=6 39=3

o— Z ® z't 2 @
A & % 5
> o) PN A
) x B 4

® A
Plug n a value that
F+s +he condition.
Example : x=1||
= r"\) Ax= 22
227723 ¢l

o)




(o C @o) A

T”le %r‘fangle a¥r the left Tn the dagram, The
s a 45-35-90. Therefore: angle marked & (s A0-X
x=4, 2x=8, AC=I2 Cavge A @ @0) Hd+ @Go-3=1§0)

Z=90-X
Y is supplentary fo 2
Y = 1&0 - (qo-X)

@A
Pick o value foc a.
Example : d = $100. Bused

on ‘i’th example , each
heketr cosks $1, B Hekels

cosy $5, D

Plug in d=]00 to each .

<oloton to determine The 'PlfS'T person Shakes

which s QC]\)CL\ 4o $5. hands with 4 PQOP'Q, The
3econd shakes hawnds with

ﬂ: qo+X

") Yo = 19%0 = 5 2 other people (one has
G\Ir“eada been counted ).,
A Q+8+7+o+8 +4+3+2+l = 95
Dr’oab an albtude 'n AAeC: @ £
5
The alhiude Write out the propochions
3 helps you see and eramine Thew,
that the v 9
base. of Ele)
' = o ) $he A
s equal 40 b. The area ! V.3 >_ﬂ_:@
A= (L)H)= 2~ 2 2
. D ‘ when ¥4=3, X ard 2 are
| opposites, dse This when
T+ s always 'MPOF}QV\T_*'O eramining each condition.

laboel proporhions ¢ -
read scrppts H gu\ nread |l Condition X Wovrks

Aotal seriphs A0 reac) 4 A -5 um ber
(unvead ¢ 20-4 = 16) add £ oppos e

= -

&)




Covwdl"\‘l'cﬂlfi Does nolwork E xamine $he Solutions

Xy —> values cn change looking for 36 :
| | A ox +& =38  (D)ox+4=34

Condition I 1 Wovks | (BY6x 16 =[26] E)ext3=33
: %
Cr+2)*—> (humb + opposite) =0 ©)6x+5=35

@ D
Choose num bers Hhat it
-i’he condihbm s
Alice 20 (common denom.)

Bol b (M5 of Aice)
Chris 12 (34 of Pob)

Avey. of @ob and Chas

D 0 (,i: jym)-‘.—(; =;'+
+ (av
TF +he arts are equal, zo’cfl'—'f = ""Bq/ﬁ =

Oce CDE (s 2[5 of the O.

TF +he avea is 25T, +he
rochvs is B (TTy*~>Tr5%)

The civcumference of The
whole circle (s SECTION 5

2tr¢ = 2TT(8) = [IoTT

Arcc CDE s 2/5 of 10TT; ON"
@/s)Clom) = [T Solve o x. Mulhply 5?
5 to start! Atx=10,x=
@ g D b
Plug in numbers That-Fit
he condition, ¥ s odd. H4+ 849 =2
EXamplQ: X:SJBx-H:’G? 2l ~3 =7

Next R odds : \73+19=364
(32)



@ C

Take the second cquation
and So\ve for X .

lox =14, x=Mo= s,
Then subsHtvte mio +Hoe
Fivst equation

X=.§_ ot l:ﬂ—-’?tj:'?

T ®E

S 5
Set up eqUaﬁOM o solve for
x avrd Y.
4 =%x+5 122y-3 %=y
x=9 Y =15 =15 =50

® C

32K s 8 Himes as much as 4Kk,

D

Check @ach possible soluton
Set, T+ Is Covvcect F @ach
numbexr n The set is '
of cne of the dementsof p,

B

Sum fov fivst 3days: 126
Sum for 4 days: 4xbs = 252
Temp on lastday ! 252-186= (6

c
A‘Y]S‘H')mg "I‘IW)?_S O s shll O

A
No wmatter what valve (<

ossfgrﬁd to "’ 25 more
+han @ 1S 3rem+€r‘ +han 5
less +han va.”

® D
AGFCD must equel 60, but
e'\'\‘her one oud be \omge,r
+Hhon the other. That makes

B meoSS'Ible to ompare..

@®c

TF 3 cves 15 haltf, G cupsS is
the Capacity-

@ D

Becouse vou do votknow
which coshs more before

the discount, 4 is jmpassible
fo compare.,

A

B Bvalusde the extpression”
3Y™—2x
30)*=2(2) = (3)-(-D =7

@ A

X+2=80 Jo make up 180°
w the fnangle. I is wnol

pessible o x fo be equal
to or greater +han q0°

@ D

Both wlumns include Cotc),
(22)




bt 0 might be_positive the pumber will be +he Frvst

negahve or a Frachon, m the geguence.
When mt)'\'\plled Yo’ coud
make the Produo‘\‘ laropc @ A
or smaller,
One meter per Secovd = LOwm fain,
@ 2 | This much fagter than w/he.
Sine x s posiHive, Ax 43 o B
21 |+be. q;fsa W\@; A Column ¢ (x-2) 35+ (x4+9)= 2-)2
Thel= ma. g = 9 Row : S +(w+2) +(WH)= 2w +|
MY CAR ODOMETER JUST TP aix+1 = 2w+l w mush
FROM 279991_05&000(%3% be \Braar :
WAS THE BiGGEST THRILL i'D HAD i i
iN weeks

@) 8
Assign volRS 10 propar‘n'om
Tina 30 , Ritm 20 |
Since Rim © Marie 15 I:2,
Marie 1S HO

@ C
Al sides oF AR are ymdivs
Measures, Since +he dameter

X \s Squ\Qmen'hn‘/] Jo ho? 3 Xy +he radius (s equal o
x4+ No=\&0 , x = 70° \Va. x Pev ABCD = H(hx)=2x
Yy & equal +o W (alternate

interior angles) @ B

4O = +-"+O"'HO =))0° :
X 4+ 4 o 3 P]ug m values “:o(' X>\)

x=1, x< | ancl check the

e re$uH:§ The system ofF
Rllowing this pattem, +he W equal ihes will not work
244 Number will be =1, : unless X <.

24 3=\ v |, This means Fhat

Gw




Gy B

Line Segmen‘f‘ AE 1S Comman
to both A'S so we will
check +he remaining sides.
The second A has a 3reaﬁer
perimeter because AD > BE
oand ED > AR.

D

Plugging w valves fov n
shows n =4 and n=7 will
procluce values for 2n+|
+hat are multiples of 3.

L.

To find the area of A2LD,

7+ 18 necessarvy to determine
the measure of the sides.

Nse the ?aﬁaﬁommTh@rem.

The powt (1)
15 the vertex
of & vght A.
The legs Can
be determined
Ws g Fhe X
Ckv\dtj V'Q'UES.
The hypotenuse can Fhen be
de termined & 1*+3>=c>

c2=10 c=\lo
TP o sde of +he Sejvave 18 \J'IE)
He area is (VD) = |0,

oy =

@) C

Plug in valees. You will find
that 1,2,3,4,5 are pecfect
hygerevbes. G is not.

Choose numbexs Had con
Srve as propochonal co-~
efAcients. The largest om-
ber needed 18 +he cowmmon
devominator of the +wo
Frochons.

Soph 12X 12% 9%+ bx 360
Jun Y x 2L7%x =360

Seviors ¢ 6x=6(13.3)= &0

@c
Subshiute 2 foca, 4furb.
Evaluate abyra
YD+ B)=15

@ B

Dlve +he leftside of +he
eoquotion ;| (M) HH) =2&

Substitute x foro, Sfvr b,

28 = (xX)(B)+ X
sg=bn | x='k

(25)




@DE
A ponts akove the angled
ine have coovdinetes
with X >Y, Pojnts below
+he line have coordinates
with VR

Since v > %, Wmust-be EocD.

For E: Y>S ForDr y«s

@A
Subsktute a valve for b
and foc x. Ex: b=3, x=|

2= (a)) = 3p >3(3)=4

Plog in +he same valves
into the solutions. Two
of thewm work:

(A’\ R +1 =, 3l-H= Blzq

®) b>* — 3:.(i)_-_5"-:q

Ty anothev set of values:
Ex: b={3 x=2

3= ({3) = GY- 313
P)Ug i ‘

) b S@E) =@)s 5]
©) b @Y @)= 3

@) D

Suvfuce area of ¢+t A pOSMS

A= 2(hase area) +(per) (k)
2 [3G8)]+ (104 {8 ) )
lo+ Bo+3leg) = H6+3(68

eH)5

39 &

Set vp a chart with a val ve
for Nt n=20 |

Nol T 23r5
Jim ng <«— 20
Poll_tj q —» Ilj

20 20, o
@) = =lo @) '_{H:IE
€) yo=12 ®) 2042222
€) 2(20) =40

Pick an orig)\'nal price . $)0
Reduced bﬂ 20% =48
Sobsttute P=& inf +he
Selottons leoking for JO:
@A) 1.& (P)= ).&(8)

@) 1.25(P)= |.25 () =[0)

@) )2 By = 1 (8)

®).8(p) = . &(8)

€&) 715(P) = .75(&)

\We GAT ONe OF THose
DISAGREEABLE COLDS

...SOMETIMES THE €eS HAVe 1~
SoMeTiMes THeNose | .




0

@

SAT. (C)

A
22:3: @=6, 66A=h,8= i

&

(8) (s _just right of 2ud line
(P) ks justle of 2nd fo last
hne ,

G A

100 = Yo = 1000

g

E

x 15 supplementary Jo S0’
= I‘-too

@ s veytheal fo H0° =40

&

Sirce he uses oranges huice
as fast, the eranges. will
run out Frst aftec BO
bags ¢ Bo x 2 =100 .

E

Since +he ‘ﬁéure s nol drawn
40 Scale and There 1s no
addtional mfoemahon, no
assompTioans can be pade
about +he sides that are
not labelled.

@D

Estimote fo defermine (C)is
t+he answex:

ES
5024 2(50XS0)+50
2500 + 5000 4-2500 = 1,000

This problem aan be solved
QU\C\CJ& once v have Jearn
abou‘\"FO\C\Df'ng m T 6{‘&6@.:

xl'}*?-xg H\jz. ” (X'Eb)l
(45+585) %= joo = 10,000

«, TS NOTHING TO Ba.
AshHAMeD OF,.A ISTOF

CARTOON CHARACTERS
ARENT DRAWN Velg:\’ weLLs

;
58
| &3

Zx+2x 20 —= [ox+5
Subchture a few posihve
integecs :

IOX+8 = [00)+5 =15
10X +5 = |lo(2)+5:=25
\ox+5 = 10(2)+5=35

mu Hhples
of &

G7)




@ C

A quick sketch wnll help.
Anorher method !

(12,8) & vp 1A ,ovelr & Hom
+he. origin . Slope /s =3/a.

G,2) & vp 3, overa

© D

Subshitute! Exawmple x=-]0
AV answers are True

except (D)
2-x< 2-2
R E ;itc\isfafr\-
|2 20 J

TF 27k = | +fadion, the
Frocton myust equal 13/
13 =" g =By

@ C

IL you de:\‘ermfbe L\) You

can €1nd 01 +hrough
mo IHipheathon.

Notice !
235 « AN = | O 10

A wust be oH,6,0r 8 to
produce o zero (n The unm s
gt A must bR bt
erduce | v The tens dgit

That makes [ = 4.

@D
Since +he new raho has 2
with +he [east number of
marbles expeciment by
e king marbles our of 2,
Transfer 2 from 2 o x:

sz—;qea

i
s
i
e

The six mddle angles add vp
o 360°

QotA0H0 + X+ +2
must =360°
ANE
GC t X+y+es 9o°
®E

£ px =P3x and X 0O, that
- (rjeans p=j>3
You can Cancel x on each side

for p 4o equal p> p Can be!
51, -

€




(o) C

e areful, ¥ not /A x '
APter 2 has been eaten,
Fhat Jeaves 2fs.
Now % % ]/7. = '/5

> epandec of sandwich

) A
The center of the wheel vl
Have) forward Fhe lengih
of $he Circumterence each

revolution i

- d=2r, r=25
C=2nr
C=z21 {25)
C :ﬂq/l

3 revoluhons: 3(Mh) =374

® c
Substtute each answer 1o

See which wocls «
@)7+5 +2+H4 +(4) =22
@) 7+5 52 +4 +(HB)=20.5
©) 745 +2+4 +(&)=pY] +6y)=

| 26
) 74512 4+ (D=3
E)7+5r2+4+ )T

(@ D

Since the largest number m
the chart 8 10 (dish, Polo To

Greeo), These cihes are focthest

apart, Only (D) shows Them
Brsr and lost

@ A

Pick he l’)'\@heﬂ' and | owest
Poss'tble vyalues foe X cmd Y.
Try Hose Com b nations ¢

X -3
2 - b=
. Y
_?::’;f —H< Xy <3
4 = 7 = OV
@ B

The figure 5 an ochagpn .
B-2) x (80 = [080°
logo = & = 135°

@E

Trgj each combination

sgquare  (ecpvrocal
T) 3% a2 2'A

2¥= 4 R e V"} %
) 1= | = %
o) 5= 4 — Y %

4*=le 5 R

S_. 12 p=1000

@B
I'P‘j'hQ Suw O'F +he 6 'Fp\'ceg
18 SHxT L BT 62 qx*
That makes each face 3x by 3%
V=3B (3X) = 27x>

9




@) C

Set up o chart based on Hhe
Yelatibnship rxt =d
Grote x time = distance)

vole x £time = A\stunce

Trel  Ho h = Hon
Trp2 3o - = 3o-30y
e J
Tora) Hime (s | hr, Distances
are eguol

O Hon = 30— 20N

i:\& B i = 30/-7
dstance *

4o n = Ho(30/7) = P97
Round Hrip* 2 (129)7)= 3‘-‘;}7- Mies

C

22,222 + (5 - 10%)
22,20 + (Soc0) = 27,222

A |
Setup a propochon :

cres plowed 3y Tn=ug
qallons 7 e n=6%
=

The bottom two avyles are
Svpelements !

[+ -] i 5.
. g &5+ =180, X =100

@ &

The largest product in queshon
K 4axqq, Rather than
wultiply it oul, try This:

100 + [00 = (0,000

smallest possible B digit numb.

99 .99 muSt be only e

JWAS SO POOR AS A GHiLD
AlL i HADTO PLAY WiTH
WeRe MY MeNTAL Blocks il

BEXx) -R)(x) =10
5EX-3x =10, 2% =10, x =5

G B
(3)(:—2_5) + (1 x=rg) ~(2x ~©)

3x =2y +x-HY-2x +0°
2% - by

CB) 2%

e\ = 2AR-64Y
|




5 D
The bottom two angles sum
to 1207 They are equal

(opposite sides ave eq val).
All angles ave 60° It is

an equilateral triangle .
5+8 +5 =15

® C

B a2 L s o
- N..—éﬁ—?sm_?-__gﬂ

@ B
wWithout taking Hme o do
the entire long division
the Tt digit of +he
ootent will be "2 and it
w il be a 3—d'\g'\']' quoﬁa\’]’,
X 7 200

i (.iTLLBeALiTILe
| WHIL® ONTHAT
H | CHiLl WITHOUT

lh‘—-—"a

o7 ’,: : §° | 2=
: “ il !

]

2
Column A |00 +2
50 km / he
Column & ! loo + '/
200 km / hv

@ D
T n<i2, Glumn 8 is larger
ITfn=12, both columns are

+e Same

@ 3
A QUadr'slcd'emJ hos 260°
Go+ 5o +70 + X = 360

X=160

&A
Sobshtote a Frackon, |, and
& number Ggreater +Hhan | ¢

Z
(2+1CJ’:)_ JE*J"_Q.L
i =0 e e
5 z
M*ral) o= As x gets
l |argyer,
N Column &
&+ 2(2) . gets larger

2

® c

X amc\ﬂ are equal (alf

interior a%)es)
KTy = AEXR T 2

® B .

Since I<4‘+J 10 -k will be
greader +han ©

TF w= I.ZO} 2\S 60° because it

5 supplementary. ‘
Syce » >4, The largeisj* possible
Valve for Y is <Hl €60,

()



@ A

A Con Oﬂ‘}j equa,\ 5

® D

Look “past” +he dvawings be-

Cavse they are not drawn
4o scale. £ rther +riangle

coold have a very ‘ijge o
very Small base.

C

Solve +he proportion
+8 _ o4 ,gx =.00b
.04 X ® = ,002

A

Since p is posihve and N
S negod-nve: Add g N
will make Glumn & smaller.

A

Divisews are fuctoes:
Glumn Al 127 1,234 612
Golumn B¢ o7 124 & (b

@ D

Column A CP'l-ﬁ)l

Column & & Cp-9)*

Both will be posibve when
Squavred, but P o g could be
r)egovﬁve malkivig 1+ fmpoSs'nble
1o determineg which is lager

@ C

x+3-z~7¢=o

Look ai-Hoe} Gerg)=a=X
2nd) equadion y-220 - y=%

@p

Colovan A is G complex Fochon:
.2 =
=S5

Column A: 4/a  (ojumnB : |

@c

Column A+ (15)(2000)=200
Column & (20)(I1S) = 360

@D

Sobstiute Some possibl
valoes © X >4 > |

Ex: x=3,494=2

Column A2 x2=37=A]
Column &7 y*=23=8

wlN
Nw

—
—

le[ wiv

Ex: x=5,4Y=2
Column A x3 =5"= 25
Colomn & %> =>% 2@

@pe

This prob\ew\ I +ric.)c,ﬂ .
Y

BVPF'/zg" A= x>

Avcea of both Jrangles = s

—

Miadle triange’ Use Pyih. Theoren

2 2,022 -
A” Y e X 2
T)’]ere:Fr.Ne:x*'ﬂ




@9 B

Averaoe 1S Sum divided by 2:

Xt+3x_g j%a:g se 2 bk

@ E

3
Subs-\-'nﬂ’re forn: n=3 n=4
@) > 23*=9 N =16
@ni-) 3G-D6  HEHA) =1
C)n-1 S=|=2 4 =) =3
D)3n+  3EH=l  S(PHH=3

@)tz HORIE 4@)+3=[4]

T+ 15 imporyant o vy one
even and one odd valwe,

Notiee & (E) myst be odd
because Hn has Jo be even,
Then add 2 makes 1+ edd

Go) A

IF yov Know The P{g‘i‘ho\gafenn
triples, this can be Seolved
Oju'\ddj y
a_arl43  p  legs hye
; A.D:-QH-" = DH?
/ eX+ARF = o™
,/lo AH =8
: (+riple 3-'-}-5)-1
g R e
rectungle BCRG
hos dimensions | by 8

A=1"-8
A= 8

I

GDe
One +ree on each pont of
lﬁ+€rSQc..ﬁDﬁ would make !
H on each line segmenT
Totel of 10

GHC
Sobshtuie a valve for x 40
defermine a value for K !
Ex’/ x=|

e -
|+-!— --\2_— +hen k=1~

Now , Sthee 2k= a(%)=|:
Check the answers to See
whieh one equals | when

x=1

oy LR
T s TR
T 2F50) “.%"":L.
I -—
| —m
M

(4




@ D Go)

Make some c\{qamms - all Ve ynch macks 4 aq McludMQ

ofF which have exactHy 2 end pornts
parallel Iines ! \ - ,

Yio wvich marks ¢ 1) Inchuding:

ovd points

< > )
< s 3o A+l =20

Common poinds ¢ 2 @nd poitls
pa N C&)
< ’ : i S ¢ same
P 5 PO]‘/HS 424 ana lo Po;n"f
<

20-3=17 ponts

Al pofvﬂs of intersection & not
possible

& D

Diek values for B and C

+hat At The ondition
(R s 125%, of C)!

Ex® @'—7—’-0)(::8
et % o2 B (s € T

e .8 _ o0
2 1 = 8%

+o--WONDER WHAT Tf.
STHeRS ARE HeRe FoR Pp

(1)



